74508-63B VOLTAGE REGULATOR AND SOLENOQID H_iIT, (Replaces control box) 63 to 66 — D, DF, DC;

Consists of: - 67 to Early 69 — DC
2765W SCREW, solenoid to bracket, 1/4-20 x 5/8 rd. hd. (2) (Below Serial No. 69 DC—1037)
7036 LOCKWASHER, solenoid to bracket, 1/4 (2)
7230 LOCKWASHER, 1/4 external tooth (2)
7688 NUT, solenoid to bracket, 1/4-20 x 1/4 x 1/2 hex. (2)
7775 LOCKNUT, 3/8-24 x 7/16 x 9/16 hex. (2)
9936 WIRE TERMINAL, ring type — 5/16 dia. hole —
#8 wire

70256—69 WIRE, orange

7045067 WIRE, black (2)

71470—63C  SOLENOQID

74511-65 VOLTAGE REGULATOR
7451269 BRACKET, solencid mounting



